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mpc2 = 938.27200 MeV,
mac® = 939.56533 MeV.
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G : large component,
F . small component.

Juotdoguod

0



odboboon

Ps (r)
py (r)
p3(r)

,Op(l’)

iDDDDDD{

1
3 2, ni{iGi P - IR P
i
1
Arr?

1
Arr2

47:r2 Z n; (1 _273)_ UG (P =1Fi (P} .

2 ni{lGi P +IFi (0P}

> ni (@) {IGi () P+ 1F; (0P

DDDD[MHMJQQ»:L(“Q)za
l

DDDDDDDJQL:A,C;ﬁ:L
l



Jdboobodotd i

ooy

r - +0000of
r = 000000000

G = /1 82_'112 rl+3+0(rl+5)
221 + 3) ’
[+ 1 [+3
F = " +Krl— " +K(8—,u)rl+2+0(rl+4).

g+ U 221+ 3)

00
e=E-W({r=0),
u=m+Vg(r=0).

r — +ooll 0O OO
r = +ooJ U OOOON

— 212
G:e Ei",

P m—-E _\L2_g2,




Jodooboooodot

Matching condition

L1000
Gi(rm) _ G2(rm)
Fi(rm) Fa(rm)

E:Eo(:)

D=Gi(rm)F2(rm) = F1(rm) G2 (rm) = 0.
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D’ =G (rm) G2 (r){G1 (rm) F2 (r) = F1 (rm) G2 (rp) )

n < noll U E < Ey.

n > nold U E>Ey.
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ri = h-i, 0<i<3000,
h = 0.01 fm.

E4

E4




Joooooot

Screened Poisson ] [ [
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